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Question 1

Question Type: MultipleChoice

Identify the three true statements.

Options:

A- A version may contain multiple hierarchies.

B- A version may contain a single hierarchy with shared nodes.
C- A version may contain version-specific node types.

D- A version may be assigned validations.

E- A version may be assigned exports.

Answer:

A B, C

Question 2

Question Type: MultipleChoice




A department may only have 10 cost centers. How can you address this requirement?

Options:

A- Security

B- Validation rule
C- Filter

D- Node Type

E- Property query

Answer:

C

Question 3

Question Type: MultipleChoice

Identify the three true statements about Workflow in DRM.



Options:

A- Change requests are stored in a draft state for approval.

B- Change requests are validated against a version and committed to the draft version.

C- Change requests pending approval cannot be changes until the change has been approved.
D- Change requests are committed to a version once the request is approved.

E- Workflow is exposed through the API.

Answer:

A CD

Question 4

Question Type: MultipleChoice

Identify two reasons to build validations using derived properties vs. validations using property queries?

Options:




A- View the results of the validation logic as a property value.
B- Validations do not support property queries for batch.

C- Provides faster performance of validation process

D- You can import the initial validation setting to the property.

E- Formulas can be used to perform complex logic.

Answer:

D, E

Question 5

Question Type: MultipleChoice

Your organization has two ERPs: PeopleSoft (PS) and SAP. Each ERP has its own chart of accounts. Each chart of accounts is mapped
to a consolidated chart of accounts. The Finance department maintains the consolidated account hierarchy, For both the SAP and PS
account properties, users should be able to select from a drop-down list the correct accounts that should be mapped to the consolidated
account. Many SAP or PS accounts could be mapped to a single consolidated account.

What property type should you set for the SAP Account Property and PS Account Property, assuming that you have built the SAP and
PS chart of account hierarchies in DRM?



Options:

A- Lookup
B- List

C- AscNodes
D- AscNode

E- RangeList

Answer:

B

Question 6

Question Type: MultipleChoice

Which filters can you apply to narrow the transaction history results when searching the transaction history?

Options:




A- Specific transaction ID

B- Specific user ID

C- Apply a Max Records number

D- Loss changes, which includes activity that was lost due to computer crash or failure
E- Action Description

F- From and/or To values

G- Node Description

Answer:

E
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